
Installation Instruction
TV Stand

VESA Compatible： Max 680 x 480

Weight Capacity:      40kgs

Lifting Range：

Rotation:

        800-1700mm 

90°

Column segments： 1

Please read through these instructions completely 
to be sure you’re comfortable with this easy install 
process. Also check your Monitor owner’s manual 
to see if there are any special requirements for 
mounting your Monitor.If you do not understand 
these instructions or have doubts about the safety 
of the installation, assembly or use of this product, 
contact your Customer Service.

IMPORTANT 
SAFETY INSTRUCTIONS

Parts for assembly

01   Column x1

02   Mount plate x1 03   Base x1

 B   Washer x8  C   Nut x4 A   Hex key x1

Hardware

 D   M8x16   x4  E   M6x20   x4  F   6mm spacer  x4

02

 B
 D  E

 F

1.1

04   Wheel x2 05   Wheel with brake x2

 ST 6170



 1 

 2 

 Assembly the cart

Loosen the screws at the bottom 
of the column and remove the plate

Assemble the column and base

90°

 A
01

02

 B
 C

03

05

04 A

2.1

2.2



Instrucciones de instalación
Soporte de TV

VESA Compatible  Max 680 x 480

Peso soportado        40kgs

Elevación

Rotación:

        800-1700mm 

90°

Columnas  1

INSTRUCCIONES
IMPORTANTES DE SEGURIDAD

Elementos de montaje

01   Columna x1

02   Bastidor x1 03   Base x1

 B   Arandela x8  C   Tuerca x4 A   Llave allen x1

Hardware

 D   M8x16   x4  E   M6x20   x4  F   separador 6 mm  x4LeL

02

 B
 D  E

 F

1.1

04   Rueda x2 05   Rueda con autofreno x2

 ST 6170

Lea estas instrucciones completamente para familiarizarse con este 
proceso de fácil instalación.
Compruebe el manual de su monitor para ver si precisa algún 
requerimiento especial para su montaje.
Si no comprende estas instrucciones o tiene dudas sobre la seguridad 
de su instalación, montaje o uso de este productgo, contacte con 
su distribuidor



 1 

 2 

 Montaje del carro

Afloje los tornillos de la parte inferior 
de la columna y retire la placa

Monte la columna y la base

90°

 A
01

02

 B
 C

03

05

04 A

2.1

2.2




